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ENVIRONMENTAL STUDIES
[COMPULSORY]
[For General Students]
Full Marks : 75 Time : 3 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

1. Answer any fifteen from the following:
I1x15=15

@@ ARG 2F Ted wis 2

1.1 Mosthazardous metal pollutant of automobile

industry is
FTAANTT PR AR Rvrega dre el
T
a) Mercury
M
b) Cadmium
EavERIE]
c) Lead
A
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1.2

1.3

d) Copper
Rl

What type of radiation is trapped on the earth's

surface by the green house effect?

I e gt a@T #Ire Al YT G
Gy ?
a) UVrays
UV =t
b) Xrays
X af
c) IRrays
IR 3P
d) None of these
(FIOR
Fish is an important source of
Mg G5l ———— 97 @)l T |
a)  Propionic acid
el st
b) Omega3 fattyacid
ORI BRI IACFI
c) Lacticacid
G eiPe
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1.4

1.5

d)  Ascorbicacid
SRR SiTe

Among the following which country has lowest
per capita green house gas emission?
Tl @ @R e i e
AR FH?

a) France
T

b) India
vl

c) China
B

d) Mexico
IRCP!

In which continent, annual ozone hole is
located?

@I TR AR e oy SRiEe 2
a)  Antarctica
G Bl
b)  South America
TR ST
c¢) North America
T IR
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1.6

1.7

d) Africa

RIIEE)
In West Bengal average rainfall is
S5 i RS IfRstice sifsne ==
a) 1900 mm

spoo fify
b) 1750 mm

saco N
c) 1500 mm

seoo ffs
d) None of these

(PR 7
Energy  inan ecosystem.
@ e *fe —————
a) is released

RS
b) isabsorbed

GIISICE
c) flows

zafee =1
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1.8

1.9

d) None of these
& 77
90% of World's food is comes from

SIS AT 90% BT ( FRAF S (AT
Ol 257

a) 25plants

e
b) 20 plants
20 B
c) 15plants
N
d) None of these
SACIDERE
What is the reason of eutrophication?
BCGRACITTa el 2

a)  Phosphorus
FAHFA

b)  Nitrate nitrogen

IRED RIS

c) Fertilizer

A
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1.10 Gir Lion conservation project was situated at

1.11

d) All of these
Aqefel

for Ficg Aol 2w (IR A0y ORIES 2

a) Gujarat
KIERID
b)  Madhyapradesh
AT
c)  West Bengal
QISR
d) Bihar
IEEE
Ecosystem is the smallest unit of
AREOF 26T G FTOH A |
a) lonosphere
b) Lithosphere
T
c) Biosphere

d) Mesosphere
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R (a) @2 (b) TeT

1.12 Which of the following is not an air pollutant? 1.14 Carrier of Dengue disease is
RS @G IR T2 2 (THS AZT (T2
a)  Smoke a) Aedes Mosquito
Sk afea 3l
b) Carbon-di-oxide b) Culex Mosquito
FI-CiR-wrEe ST sl
c) Nitrogen gas c) House fly
TG T
d) SO, d)  Anopheles Mosquito
AETFIL-TR-TIHZT SfCREERT il
1.13 Conservation of natural resources can be done 1.15 The three R's to save the environment are
through -
AP A~ FRFT T @S AT ——— oAt T aze feal wiw (R's) =
el 0
a)  Human population control a) Reserve, Reduce, Recycle
TR ferrgel I, ZP, TG
b)  Reducing pollution b) Reuse, Reserve, Reduce
v g IR, AT, ZI
c) Increasing use of natural resources ¢) Reserve, Reuse, Reduce
2Ples T 92 Iad IR, AL, g

d) Both(a)and (b)

79(Sc) [7] [Turn over] 79(Sc) [8]



d)

Reduce, Recycle, Reuse

1.16 Which state of India is known as 'Tiger State'?
SIS (I A BIRSI 0!’ T Ao 2
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a)  Gujarat
KR
b)  West Bengal
LR RS
c) Madhya Pradesh
AT
d) Assam
ST
1.17 Biodiversity is
G (fbw =
a) the total number of species
(G eenfos A2l
b) all forms of life
T eI G T
c) Dboth(a)and (b)
(a) 9% (b) TexZ
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d) None of these
AR

1.18 Ozone layer is found in
ST TAZS
a)  Thermosphere
OIS
b)  Stratosphere
RICRRIG
c) Troposphere

PRASCST
d) Mesosphere
RIS
1.19 Application of fertilizers in agriculture results
in
IR AR IR It ==
a)  no cost production

TeAWm T R

b) low cost production
3 TeA Y&

c)  high cost production
Tob TAM o7y
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d) None of these

@FA0E T
1.20 Paper is mainly made up of
o o T G (A
a) Cellulose & starch
TR 6 F516
b) Polythene & cotton
“AfeTfee ¢ 3o
c) Bamboo & grass
@ T
d) None of these
(PR 7
2. Fillin the blanks of any five questions: 2x5=10
-G BTG Ao =FEI =17 5 ¢
2.1 Tertiary consumer in a food chain that

79(Sc)

commonly eats and

in a food chain that no other consumer eats.

UHEET 9O wEd v

EEIELIS AT G A
ORIGE & R A L
o

[11] [Turn over]

2.2

2.3

2.4

2.5
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Bokaro thermal power station is situated at
and Amarkantak thermal

power plant situated at

@I AReT ST GoHia
TRET @R INIFDF AN AT GFoRT
TFS |

In atmosphere, the percentage of nitrogen is

and percentage of carbon

dioxide is
NS TREGIEET eFql A ==
UL IR E DIV PN BIACES|

wroe] AR 2w |

Unit of electricity is and heat
energy is

fre *f& w=ma 95 2= UENC
TG G 25T |

Acceptable limit of arsenic in drinking water
is as defined by WHO and
Itai Itai disease is caused by

poisoning.
WHO iz &1 sigaiey Siefaces «Afasm
267 @R TR TWiZ (JI6t
X RAGF |
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2.6

2.7

2.8
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Height of tropopause at poles

km and at equator km.
GIRFCS GLolioiterd Tobel ISR
OR [ @IF =

In an ecosystem, the solar energy is harvested
by the autotrophic organisms which are called

as and the solar energy

capturing process is known as

g3 IFOE @ FOSIE QIR =R T
MRS T OITF @1 =,
ciisife 7eo2re e
Sl

of total plant species in

India are flowering plants numbering

species.
SR @G Sfen ereifon
TE9lR WA eenifod 7RAT T |
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Answer any five of the following questions (each

within 1000 words). 10x5=50
Q- 25T drds Tex wie (2fof ooo g

&)

3.1

3.2

3.3
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o
o

Write short notes on any two :

@I 57 Tl Tipl (774 ¢

a)  Ecological succession
AR gl

b) Food web
QA et

c) Energy flow in ecosystem
ey xfe 2z

d)  Ground water pollution
OIS GIT e

Write different processes of water

conservation.
TR [fen safowfr @2

What is biodiversity? Mention the role of an

individual in the conservation of biodiversity.

(TR &2 (Thaba AT aF6 Jfeq
o S 9|
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3.7
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Write short notes on :

ARl DIl (312 8

a)  Noise pollution
7

b)  Airpollution
AEVER!

Write ten important lessons that you have

learnt from environmental education.

vl wwgslel frel @ [ o SifRe Rl
(AT TrFlie e |

[lustrate natural resource and associated
problems.

AFRoS T G ORI TS SE
39|

Define ecosystem. Classify ecosystem

components with examples.

IWOLIFT FALR Ve | THIEZIAY HZ IWOET
ToAmelem @M 791

Describe the relation between climate change

and global warming.

JRRNETR AfRTST @ W TReRET W
ToF Fefell T
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